(%)

T2 EBBE — R FHICEITS
A HERX A E(HEERBHRED)ATETONIHERERRICES HER

(BA)
AEERR T (S RERRELES) 79,600 FH
(W)
HERERKRICET HEE 1,937,588 FH
(e REFERICETHRE] (Bifsr: M)
BHEAER
Y EBHR —ARBAR
£ 2 % 7 B ’ i
HhAE B
EREZHE HhAE sqolict & (LRI ol
EAES)
EEEEUEE 286,743 199,490 0 3,079 4877 79,297
it Sk ERILEE 210,420 2,405 0 11,768 11,371 184,876
A
’% RERUEE 355,350 142,283 0 21,847 11,080 180,140
1t
FDDHEUEE 78,910 15,646 0 30 3,664 59,570
I E 931,423 359,824 0 36,724 30,992 503,883
ERERRREEX 104,428 62,317 0 0 2,440 39,671
*Ai NERREE 207,079 11,805 0 0 11,315 183,959
~
7 -
i [RYEREERER 238,250 47,697 0 0 11,042 179,511
N E 549,757 121,819 0 0 24,797 403,141
EEEx 73,607 35,241 0 7,736 1,775 28,855
= AR EE 283,830 0 0 0 16,446 267,384
L3
P FrHEE 29,148 0 0 0 1,689 27,459
el
ZTOMOFREFHEEZE 69,823 1,508 0 1,000 3,901 63,414
I B 456,408 36,749 0 8,736 23,811 387,112
=y &t 1,937,588 518,392 0 45,460 79,600 1,294,136

XA HERZAE (HEREMRILS) (X EFEICET I RHROLEIGLTRSLTRALTLS,




